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Time Allowed : 3 hours

| Maximum Marks - 300
gag : 3 Hue

T : 300
Instructions : ,
* The questions are of equal value.

* Answer six questions, selecting three from each

Section but attempt not more than twe questions
from each Part of Sections I and II.

-+ Candidates are required to give their answers in their
own words as far as practicable.

« All questions have been printed both in English and
Hindi. In case of any ambiguity in Hindi version, the
English version shall be considered authentic.

¢ Parts of the same question must be answered
 together and must not be interposed between
answers to other questions.
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SECTION—I
TJus—I]

PART—A
HAT—H

1. Discuss the doctrine of Karma in the system of
Buddha and Mahavira. Point out their similarities

and differences.
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Mle Kalinga war proved a turning point in the
career of Ashoka and produced results of far
reaching consequences in the history of India.”

Elucidate. | |
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}AN hy did Samudragupta follow a dual policy in
his conquests? Some kings he uprooted, other he
dethroned and reinstated.” Discuss.
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PART—B

HT—d

y “In every field of medieval Indian society, there
were elements of conflict and synthesis which
resulted into evolution of a composite culture.”
Elucidate the authenticity of this statement.
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5. “The reflection of the vision of Akbar is found in
the literature of that time.” Elucidate.
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6. “Economic life at the end of the 16th century was
characterized  essentially by  inadequate

production and faulty distribution.” Discuss the
statement.
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PART—R
W—a
10. “The French Revolution was not caused by the

philosophers, but by the conditions of national
life and mistakes of the Government.”
agree With this statement?
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Mat were the causes of the Great October
Socialist Revolution of 1917 in Russia? What
were its effects on world politics?
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12. Throw light on Roosevelt’s New Deal Policy and
discuss its significance. -
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